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4848 0.1 0.10 0.26 0.11 0.1
e 48118 0.10 0.10 0.26 0.11 0.12
4818H 0.10 0.09 0.26 0.11 0.12
48248 0.12 0.10 0.26 0.10 0.12
5828 0.1 0.10 0.25 0.11 0.13
5898 0.1 0.1 0.26 0.12 0.13
58 5816H 0.1 0.10 0.26 0.11 0.13
5823H 0.1 0.10 0.27 0.11 0.1
58308 0.10 0.10 0.27 0.12 0.11
686H 0.11 0.09 0.26 0.11 0.12
65 681380 0.12 0.10 0.28 0.12 0.1
68208 0.12 0.10 0.30 0.11 0.11
68278 0.1 0.10 0.29 0.12 0.12
7848 0.12 0.09 0.30 0.12 0.11
78118 0.12 0.10 0.28 0.12 0.10
718 781880 0.1 0.09 0.29 0.10 0.10
78258 0.10 0.09 0.29 0.1 0.11
78318 0.1 0.10 0.29 0.1 0.10
8A8H 0.10 0.1 0.25 0.11 0.11
. 8A14H 0.1 0.12 0.25 0.11 0.11
8A22H 0.1 0.1 0.23 0.11 0.10
8H29H 0.12 0.1 0.23 0.10 0.12
9858 0.11 0.10 0.12 0.10 0.11
of 98128 0.12 0.10 0.27 0.10 0.10
98198 0.12 0.10 0.27 0.10 0.10
9826H 0.12 0.10 0.27 0.10 0.11
10838 0.11 0.10 0.26 0.10 0.11
108108 0.11 0.10 0.25 0.10 0.11
108 108178 0.10 0.11 0.24 0.10 0.11
108248 0.10 0.10 0.25 0.11 0.11
10A318 0.09 0.09 0.24 0.10 0.10
11878 0.10 0.09 0.25 0.10 0.11
1A 118148 0.09 0.09 0.25 0.11 0.10
118218 0.10 0.10 0.26 0.10 0.11
118288 0.10 0.10 0.26 0.11 0.12
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